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1. The equation of the tangent and normal
tothe ellipse x2 + 2y° + 2x —4y —14=0
at(2,—1)is _

A) mxlhv,l._auo.hx.ﬂ.mwlmno
B) 4x+3y—-10=0,3x+4y-5=0
C) 3x-4y-5=0,4x+3y—10=0
D) 3x—4dy—10=0,4x-3y-5=0

MATHEMATICS

2 |fthe line 2x + /6y = 2 touches the

hyperbola x2 — 2y? = 4 , then the point
of contactiis

A) (~4,6)
B) (—4,—6)
C) (4,-6)
D) (4,/6)

3. The angle between two diagonals of a
cube is

A smﬁ\i
B) cos™ Cm v

C) 30°
D) 45°

4. The equation of the plane which bisects
the line joining (3, 0, 5) and (1, 2, —1) at
right angles is
A) 2x +y +2z=7
B) 2x+2y-6z=7
C) x—-y+2z=7
D) x-y+3z=7

i

1, 9Fga x2+ 2y2 + 2x -4y —14=0H
(2, —1) T v R AR
wiww __ ®1
A) 3x—-4y-10=0, 4x+3y—-5=0
B) 4x+3y—-10=0, 3x+4y-5=0
C) 3x-4y-5=0,4x+3y—-10=0
D) 3x-4y—-10=0, 4x—-3y—-5=0

2. aFR @l 2x + /6y =2 AfRET
K2 - 2y? = 4 F T FT B, A
foig B
A) (-4,6)

B) (-4,-6)
C) (4,-6)
D) (4,6)

3. T ¥ 31 el & e W w 4

A) cos™ ﬁ\\au
B) cos™(J5)

C) 30°
D) 45°

4. (3,0, 5) 3 (1, 2, -1) F TR A
Sretae Y = fpnfa Feee gEed
wEEm @)

A) 2x+y+2z=7
B) -2x +2y—-6z=7
C)x—-y+2z=7
D) x-y+3z=7
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5. The mgcmm.o: of the line passing through
the point (5, 3, 2) and perpendicular to

xrmu<|muN|n

the lines

IR IS W
xl,_n.u_.ll_um.m..#.
g2 O =
X-5 _y-3_z-2
N5 "3
X+1_y-2_2z-3
85 "3 "2
X-5_y-3_2z-2
LT
X-5_y-3_2z-2
e

6. The distance of the point A(a, b, ¢) from
the x-axis is

A) a. B) b%+c?
C) Ja?+b?

7. Ifalb and (@+b) L(a+mb),

D) a?+b?

then mis

A) -1 B) [’/ b’
|EM

C) "=

D) _m.._m

8. If the points (-1, 3, 2), (-4, 3, -2) and
(5, £, m) lie on a straight line then  and
mare

A) 3,10
C) -3, 10

B) -8,-10
D) 3,-10

5. fag (5, 3, 2) ¥ T Tt af W@
Xx-2_y-3_z-4
==} T IR

R R

w1 gt _ R

x-§_y-3 z-2
-1 2 3
Xx+1._y-2_z-3

B e " 8= 2

x|m|<|wrm|m
£l 1 -1
x-5_y-3_2z-2
2 1 0

A)

D)

6. x-3181 4 fg A(a, b, ¢) ¥ gft B
A) a B) b%+c?
C) Ja?+b? D) a?+ b2

7. %1 316 3K (@+b).L(@+mb)
g, dm gl

A) 1 8) [/ "

B
Gv _m_m

C) -1

8. SR firg (-1, 3, 2), (-4, 3, -2) 3k

(5,1, m) T @ ®E, A /3Rm
RS 1
A) 3, 10
C) -3, 10

B) 3,10
D) 3,-10
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9. The equation of a circle passing
through the point (1, 1) and the point
of intersection of the circles
x2+y?+13x - 3y =Q and
2x% +2y2 4 4x -7y -25=0 is
A) 4x? +4y? +30x —13y - 25 =0
B) 4x2+4y?+30x -13y +25=0
C) 4x®-4y?-30x+13y-25=0

D) 4x%-4y*+30x - 13y - 25 =0

10. The digit in the unit place of 72" is
A) 1 B) 2
C) 3 D) 4

I1. The vertices of the hyperbola are at
(-5,-3) and (-5, —1) and the extremities
of the conjugate axis are at (-7, =2) and
(-3, —2), then the equation of the
hyperbola is

y-2f° (x-573_
A = =1
+2F  (x+5)?
1 4’ =
(x+5)?2 (y+2?2
4 e

_E\2 _9\2
D) (x Lmv |y Amv -1

1

o

1

C)

2. Two dices are thrown simultaneously.
The probability of obtaining a total score

of5is
B) Mg

A Y
C) Yo D) Yag

9. fig (1, 1) 3 g x2+ y2 +13x -3y =0
M 2x2+2y2 +4x -7y -25=0 &
vio=de fig @ o 9 9 1wt
. 1 .

A) 4x?+4y2130x -13y -25=0
B) 4x®+4y%4+30x-13y +25=0
C) 4x®-4y?_30x + 13y -25=0
D) 4x?-4y?+30x-13y ~25=0

10. .\.ﬁ%ﬁﬂmﬁ.ﬂﬁ&ﬂi?
A) 1 B) 2
C) 3 D) 4

1. afoeaer & ¥id (-5, -3) afv (-5, -1) &

3R w2781 & B (-7, —2) 3¢ (<3, -2)
3, @ ofrEem e ¥

|Nvm |Axlm.vm"._
1 4

(y+2? (x+5)? _
1 4

(x+5° (y+2? _
C) =5 =1

(x=5P (y-2? _
P e

A) (y

d

B)

12. 3 uTHi St U | et St 2 1 F ofh

5 9T & =) TTlieRan
A %
© Yo

=

B) g
D) Rm
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13.

14.

15.

*If A and B are events with
P(AUB)=Y, P(A) =94 and
P(ANB)= }} then P(B) is

N A |

B) %

) %

D) Y

The probability that among 7 persons,
no 2 were born-on the same day of a
week is

A) %
B) 7%
c) %
D) %

For the events A and B, P(A)= 3,
PB)= ), P(ANB)= % then
P(A/B)=
A Y
B) Xs
c) ¥
D) Y%

13. 3PA 3B T & 3 P(A UB) =/,

Eh&nwm iR I}Dmvuk 2 @
P(B) gl

A Y
B) 24
QK
D) Y

14, G AP % S 2 T 9TE F o g R
U1 7 B i iR B

A) 24
B) 7%

Ow .W,__l..-ﬂ
D) W.\wq

15. A 31R B "email & fa, _uEuN.

PB)=J5, PANB)=J50 &,
P(A/B)= |

A Y
B) s
c) 3,
D) %
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16.

17

W

If x+y=tan"'y and y* =i(y)y’ then
fy) =
1 2
A) v B) y
2 -2
C) .wﬂ D) ﬂu;
If f(x) = xm.m“_,,&“ if X # 0 then

0 ; ifx=0
which of the following is correct ?

A) f(x) is continuous and (0) does not
exist

B) f(x) is not continuous

C) f(x) is continuous and {'(0) also
exists

D) None of these

18. If y=sgj -1 T2 4

-

5 J1-x v then

’

W =
(1

A 21552 .
L s
B) 2J1-x2
oy
) o1+ x?
-1
D) o fivxe

16. 3FR x+y=tan'y alx y"=i(y)y’ 2,

17

18.

ﬁ Page No. qJ

al fly) =
1 2
A) y B) ﬂ
2 -2
C) mw D) @.mu

R f(x) = xL_m_*,&“ Rx20 =
0 : IRx=0

Frefafea d S wadr g 7
E_imﬂzw% F(0) ifresr # ¢
B) f(x) fwm i &

C) f(x) Fit=r 2 3R 1(0) i srfm H 2
D) ¥ & =d 7

AR y= mmz-amt:x +1- xv g,
qy =

A) o -y

B) 2 f1-x2

C) 2 1+ x2

D) 2 f1x?

3EE
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19 1 xTy" = (x +y)™"*" then y =

Ay =X . B)

X< < x

C) — D)

20. lfy=x" ,theny' =

X(1- ylogx)
u\m
1-ylogx

A)

B)

%m

x(1- ylogx)

-y*
1-ylogx

C)

D)

21. The value of the integral
._.mxﬁgix_.\xv }dx is

A) e*f(x)+c
B). e*f(x)+¢

X
C) —+cC

f(x)

X

e
f(x)

D) +C

19,

20.

21.

I x:..ﬁ:ﬂﬁx.*.w.va;_:w,.mw v\ =

= X
AL B)
-X

Qﬂ. D)

x|

3R wnxw_... gy =
I<~ .
- X(1-ylogx)

2

y
1-ylogx

wxm

x(1-ylogx)

2

A)

B)

C)

1-ylogx

D)

I ._.mu {f(x) + £(x) }dx =1 wger
— = B

A) e*f'(x)+c

B) e*f(x)+c

mx
Ov H|AW|V+O
et .
D) Exv+n
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22. Th 208 ¥ i
e value of the integral .— P T
a>0is
A} 1 B) O
T

23. The ....m_:m of the integral

xAx+:|
.— (x+1)? TP

\.-

—

W
zx+ /

A) e*log +C

—

s A

—1

X+
+C

. B) e*log

>
—

\ /

3\
C) e* x|+.“ +C

3\
D) mum.lu.+n
x+4k

24. The area enclosed between the
parabolas y? =16x and x? =16y is

64

A) — 3 Sa units
256 i
B) 3 mn_ units
C) .m sq. units

D) None of these

A) 1 B) O

D) n

A) e*log| — |+c

B) e*log| — [+¢

D) e*|— |+¢c

24, Waed y? =16x 3R x2 =16y ¥ =g
ECiCEa R F i S |

A S e gt
B) 2° i wiaf
i gehTEaAl

Ou|

D) ¥ & =1 et

C ﬁ Page zo..ﬂ .
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25. The solution of y' =e* Y + x% ¥ is
A) 3(e¥-e*)-x®=c¢
B) e/ -e*-x*=¢
C) e'-e*+x®=c

D) 3(e¥-eX)+x3=¢

26. If a =b (mod m) andx is an integer, then-

which of the following .mm incorrect ?
A) (a+ x)=(b+ x)(mod m)

B) (@ —x)=(b - x)(mod m)

C) ax =bx (mod m)

D) (a+x)=(b+x) (mod m)

27. ifaand b are positive integers such that
(a2 - b?) is a prime number, then

A) a?-b2=(a+b)
B) a®-b?=a-b
C) a®+b?=a-b

D) a?+b%?=a+b

28. Which of the following is false ?
A) (N, +) is a semi-group
B) (Z, +) is a group
C) (N,-) isagroup

D) Set of all cube roots of unity is an
abelian finite group under
multiplication

25. y'=e* Y +x% Y WEAUF ___ B
A) 3(e’-e*)-x3=¢ |
B) e —e*-x*=c
C) &-e*+x*=c

D) 3(e¥ -e*)+x% =¢

26. Afga =b (mod m) iR x T Ui , &)
e s arem e ?

A) (a+x)=(b+ x)(mod m)
B) (a-x)=(b-x)(modm)
C) ax =bx (modm)

D) (a+x)=(b+x)(modm)

27. 3FR a 3R b g1 quilss ¢ awe
(a2 - b?) U TE R, @

A) a®-b®=(a+h)
B) a®-b?=a-b
C) a®+b?=a-b

D) a®+b%=a+b

28, Frferfiaa o & @ o 2 7
A) (N, +) THai g ? -
B) (Z +)wmwEe
C) (N, = ag ?
D) TvF % T8d whe F Tt = g a
g i Hifi o &
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1. 299047576
29, If f= S

3245 16]°°
then i is

(12 3 45 6
Alo.46 756 1] °

(2 3 45 6
Blls21346

(1 2 3 4 5 6)
COlaos 136

\ J

4098304 1187 B
D)

63152 4,

30. Ina group G, the equations ax = b and
ya =b have

A) No solutions in G
B) Infinite solutions in G
C) Unique solution in G

E Dependsonaandb

1 8
81T _ 4tan”l| = |- ==
he value of ﬁmw 2

A) tan ﬁhw
139

S
B) tan ﬁ%u

C) tan~'(239)

30.

31.

(S04 ]
=+
S—

B)

e
Mo
(%]
NN
o
o))

———

Cla 25 138

D)

e G # o ax = b 3R ya = b=l
21

A) G ¥ =5 guTyH T

B) G & amd Tame=

C) G § T o gutaH
D) a 3t b w fefu s &

C) tan'(239)

D) tan™(139)

c . h Page No. 11 w

D) tan~'(139)
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32, If sin” ﬁmw.ﬁ. cosec™ ﬁm uuw then the

5 4
value of x
A) 3 B) 2
C) 1 D)0

33. The general solution of
Y3cosx +sinx =+2 , for any integer

“n" is
T, X Ry
T+ =+ = R
A) R B) nn mwn
N:,._._HIHH.H T X
C) 637 D) M:.“_"+m.|~_P

34. The imaginary part of conjugate of
1+i) |
(]
A) -1
C) 1

B) —i

D) i

35. If @ is an imaginary cube root of 1,
then the value of 12 — w) (2 — w?) +
23-w)(3-w®) +....+(n-1)
mh-o)(n-0?)is

nn+1)
2
P(n+1?
4

C) !R:M L) +n

2 2
n H_..Ma h

A) n

B) n

D)

32. TR sin” mmu oommn;dﬁmgnmu.&x

5 4
H Sl
A) 3 B) 2
C) 1 D) 0

33. 3cosx +sinx =+2 , S QI “n"

o amm= ' 21
L] _rk.x
A) :ﬁ+.m|# B) nm mﬁh
nT, T T, 7
2N —-—+ ~ —_
G} eMRTa% 2 D) w:n+m“_un
1+if . .
3. |35 % G T HIeUH ew
__®l
A) —1 B) —i
C) 1 D) i

35. 3T 1 T HIeUh T p B,
12— @) (2-0?)+ 2(3-0) (3-a?)
+.nt+ (-1 (N- ) (n-0?) F1 I

%

nn+1)
2

n?(n+ 12 _
4

A) n

B) n

o) i_,_m+ 1) R
n2(n + 1)2

D) 2

+N

ﬁ Page No. 12 g
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36. Inverse of a diagonal :o:‘m_:mc_mq
matrix is

A) Symmetric matrix

B) Skew-symmetric matrix
C) Diagonal matrix

D) Scalar matrix

37. If the matrix W Ju.ﬁ: B, where A
is symmetric and B is mwmé-mqaam:_n
then B =
1h.0

A lo 4] 5
[0 -1

& |5
F 0 -1

G St

38. If A s 3 x4 matrix and B is a matrix such
that A’'B and B’A are both defined, then
the order of B is

A) 4x4
B) 3x3
C)3x4

D) 4x3

36.

37.

38.

C | Page No. 13 |

ferpol Sqermvfiar ey &1 witwim
A) aufie 3nsgg

B) fawm wnfira snr=ge

C) Tererui aamegm

D) sifew amrege

2
%ﬂ%ﬂ.m?

Tt s1egg 3R B fyww wafim smegg
3, @B=

[1 0
A lo L
[0 A
B) |1 L
[ 0 =1
C -1 L
[+1:0
D)l o L

SR A ST 3 x 4 % 3 B a1 W
& 8 Rme AB 3l B'A 34 aienfe
fohe =7 @era 2, %mﬂwﬂ = ]

mu_u>+m,.,m_%b

A) 4x4
B) 3x3
C)3x4
D) 4x3
3EE

o —
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2 00
39. The inverse ofthe matrix |0 3 0]lis
0 0 4
Y 0 0
A) [0 % O
0 0 4
4-moo
—|0 3 0
B)
m.a-ooh
._-[m g. 4
C)— 0 -3 o0
ma-o 0 -4
% 0 0
D)|O0 4 O
0 0 %4

40. If a,,a,,....,a,, .... are in G.P. then

_D@ms _Oﬁm—:+_ _Omm_:+m
_O@m_._...u _Oﬂm_._+a _Onm_=+m is
_Qmmz._.m _8N3+q _Qmm._._._.m

A) 0
B) 1
C) 1

D) None of these

200
39. 9 |0 3 oW wRkEw ____ #|
00 4
% 0 0
A) [0 ) O
0 0 ¥
ﬂ-moo
—l0 3 0
B)
ma-ooa
._-tm 0O 0
C)—| 0 -3 0
mh_.o 0 -4
% 0 0
D)|]o % o
0 0 %

. AT ay, g,y @y weee ﬂgﬁ.gmw_

loga,, loga,., , loga,, ,
m_,._- _Om_ m—_._._.m _8m=+a _Dm_m=+m
_Omm_.:m _O@m_._:. _ﬂﬁm—:+m

I {
A) 0

B) 1

C) -1

D) ¥ & =i i

ﬁ Page No. .:_J 3EE
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41,

42.

If cﬁrdﬁwuu_ _STMH , then
XY +Xyy =

A) n%y

B) -n?

C) y?

D)y

The angle between the curves
x2+y? =25 and
x?+y?—2x+3y-43=0 at (-3, 4) is

A) tan'(1)

B) tan"( Jgg)

©) %

D) tan"(3)

A man g’ tall moves away from a source
of light 20" above the ground level, his
rate of walking being 4 m.p.h. At what

.rate is the tip of his shadow moving ?

e
A) 7
m.
B) -
40
7
D) None of these

C)

41,

42.

H Page No. 15 w

IR nom.dﬁmuu_oummg. g, @
XYz + Xy, =

A) ndy

B) -n%

C) y?

D)y

(-3, 4) W aFm x2+y2 =25 a3l
x2+y2-2x+3y-43=0 FmE
s R

A) tan™(1)

B) tan™( Yg)

C) %

D) tan*(3;)

6 EZ S U el BeF TR @ 20 |
FIF VAN F T A QL | IEH

T T BT 4 i ufe o | Suht wer
AN RATa @7
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44. The maximum area of a rectangle that

45,

46.

47,

can be inscribed in a circle of radius
2 units is

A) B sq. units
B) 4 sq. units
C) 8m sq. units
D) 4rn sq. units

I the function f(x) defined by

then f(0) =

A) 100f/(0) ,
B) 1

C) 100

D) None of these

The characteristic equation of a matrix A
i$ A7~ 52% - 31+ 2=0 then |adjA| =
A) 4 B) 25
C)o D) 30

The area of region bounded by the lines
y=mx, x=1and x = 2 and the x-axis is
7.5 8q. units, then mis

A) 2
B) 3
C) 4

D) 5 =

44,

45,

46.

2 w18 oo &% g9 § oiftem atram =
Fftray e 2|
A) 8 Tl gyt
B) 4 i srdat
C) 8n = sorsay
D) 4n =i gohrdat
TR B f(x) i
Ix,_E %99 xm.
25|ﬂ.%+@@+::+“+xi@
yiefa fémm m, &Y #(0) =
A) 100f(0)
B) 1
C) 100
D) 3aif @ =i§ 38
R A T fafite wfigam
AB-522-3% +2/=0 &, A
|adjA| =
A) 4 B) 25
C)9 D) 30

47. W@y =mx, x = 1 IR x = 23R x-wF

T...mum No. 16 w

wfaf e & =1 S 7.5 7 3d 2,
Am_ 21

A) 2

B) 3
C) 4
D) 5
3EE
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48. The order and degree of

49.

50.

e m
.._+ IQ|V-~.. M" Iﬂ..ulw m
ax ax2 |

A) 2,2
B) 2,4
C) 1,2
D) 1,4

Let A, B, C, D be the points with
position vectors 3j — 2] —

2 +3j -4k, —i+2]+ 2k and

4i+ 5]+ Ak respectively. If the points
A, B, C, D lie on a plane, then the
value of A is

A) 0O

Let 3, b, ¢ be three vectors having
magnitudes 1, 1 m:n__m respectively.

Ifax(axé)+b=
between 3 and € is

A) T
B) mvm
C) T

D) Both A) and B)

0, then the angle

49,

50.

: :.mmm No. :._.1_

ﬁ ...“n._hu umﬂmwmﬂwﬂ%
ferft 21

A) 2,2

B) 2,4

C) 1,2

D) 1,4

AH TR A, B, C, D figed = feufy afew
w37 - 2] -k, 2i + 3] ~ 4k, .
~i+2j+2k 3R 4i+5]+2k 21 af
@EA B, C, Dumasi w2, af A 5

oo g1

A) 0

7 ST &, b, & f aRm 2, R
o w1, 1 ek 221 3R
ax(@xC)+b=0%, Ma M H
o 1 i 2

A) w\m
B) mﬁ
C) R

D) A) 3k B) g

3EE
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51.

52,

53.

54.

CHEMISTRY
Which of the following acids does not
exhibit optical isomerism ?
A) Tartaric acid
B) Lactic acid
C) Maleic acid

D) a-Amino acids

[

Which of the following reactions will not
result in the formation of carbon-carbon
bond ?

A) mmmamvjmamzz reaction
B) Friedel Crafts acylation
C) Wurtz reaction

D) Cannizzaro reaction

The standard emf of galvanic cell
involving 3 moles of electrons in its
redox reaction is 0.59 V. The
equilibrium constant for the reaction of
the cell is

A) 10%°

B) 1020

C) 10%°

D) 1030

The potential of a hydrogen electrode
atpH=101s

A) 059V

B) 0.00V

C) 059V

D) -0.059 vV

o1.

S2.

53.

54.

M Page No. 18 w

LSIPERE R

Frafafea # @ o o1 e s
zEiEn weiia 7& war ?

A) TRERE v

B) grams

C) #dsH v

D) o -RfFt st

1 % & A7 Frl-wEe oy §
gftomfie & et ?

A) IR-d atfufRen

B) %sdt swew YRmieH

C) s ifufsman

D) s~ftemit-arfifaman

R aififren # 3 wicw o
fieafen & 1 A emf 0,50 VR | da
Fhfsran & fore o féris B
A) 1025

B) 1020

C) 1015

D) 1030
n:uaﬂwa@ﬂ%m&ﬂﬂ_wzm
1

A) 0.59V

B) 0.00V

C) -0.59 V

D) -0.059 V

3EE
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55,

Which of the following electrolytic
solutions has the least specific
conductance ?

A) 0.002 N

B) 0.1N

56,

957,

58.

59.

C) 0.2N

D)2N

Which of the following is fully fluorinated
polymer ?

A) Neoprene

B) Teflon

C) Thiokol

D) PVC

Which of the following is a polyamide ?
A) Teflon

B) Nylon-6, 6

C) Terylene

D) Bakelite

Plexiglass is a commercial name of
A) Glyptal

B) Polymethyl methacrylate

C) Polystyrene

D) Polyacrylonitrile

Among cellulose, poly vinyl chloride
(PVC), nylon and natural rubber, the

polymer in which intermolecular forces
of attraction are weakest is

A) Nylon

B) PVC

C) Natural rubber
D) Cellulose

55.

56.

57.

58.

59,

| Page No. Aﬂ

e sergemsfes et 3 4 g
A fafirse yemesha R TR 7

A) 0.002 N
B) 0.1 N
C) 0.2N
D) 2N

Fefafaa § & = @ o we & wiv
T T ageR & 7

A) Feids

B) 2weita

C) fmrria

D) dt. .4,

frfafas # & @ a1 v v £ 7
A) T

B) A&-6, 6

C) Hefm

D) sisheTTge

A RTAE #1 U e Tm
e [ {

A) fereia

B) uifeifiremse fremmmee

C) wifefeefm

D) wiferifErermszge

e, gifvanie s Gikcik: iR
TEEA AR IEfE W F ged wEeR
TR TR STveRefor e ety
FRlawe

A) TEEH

B) ez,

C) wrhfees W
D) dge|

3EE
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60. The monomer used to produce orlon is

61.

62.

63.

A) CH, = CHF

B) CH, = CCl,

C) CH, = CHCI

D) CH, = CHCN

Dissolving 120 g of ureain 1 000 g of water

gave a solution of density 1.15g/mL. The
molarity of the solution is

A) 1.78 M
B) 2M

C) 205 M
D) 2.22M

A 5.2 molal aqueous solution of
methyl alcohol, CH,OH is supplied.

What is the mole fraction of methyl
alcohol in the solution ?

“A) 0.05

B) 0.10
C) 0.18
D) 0.086

58.5 gm of NaCl and 180 gm of glucose
were separately dissolved in 1000 m|

of water. Identify the correct statement”

regarding the elevation of boiling point
(b.p.) of the resulting soiutions.

A) NaCl solution will show higher
elevation of b.p.

B) Glucose solution will show higher
elevation of b.p.

C) Both the solutions will show equal
elevation of b.p.

D) The b.p. elevation will be shown
by neither of the solutions

_ Page No. 20 _

60.

61.

62.

63.

AT =1 fmfor 0t & g
A 1 I o s 2

A) CH, = CHF
B) CH, = CCl,
C) CH, = CHCI

'D) CH, = CHCN

1000 7 9t & 120 7 gfen =i Hie
RITTR 1 o7 1.15 g/l e Sy
2 | faerm &Y Hiewar B

A) 1.78 M
B) 2M

C) 2.05M
D) 2.22M

targe Yewleer % 5.2 wee e
CH,OH it argfc &t streft 8 1 59 % oz
UeHIETe o1 Tt Sy ey 2 7

A) 0.05

B) 0.10

C) 0.18

D) 0.086

58.5 gm NaCl 3R 180 gm o= =

1000 m! 9Tt & yores w9 & Wier B s

2 | oRonfie ferm s % =

& wef § T U =1 g5 =5

A) NaCl foerm Favis =1 3 3=
Tt &

B) g faem st w1 3o 3w
q3TiaT 8

C) 21 foraem savmis =1 gy 3=r
CHIG R

D) iwmiﬂaﬁﬁﬂﬂﬁﬂ”_%
ST S
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64.

65.

Reaction of acetone with HCN gives
A) Substitution compound

B) Addition compound

C) Elimination product

D) None of the above

Identify the correct statement.

-A) Reaction mechanisms are studied

66.

67.

68.

using isotopic labelling .

B) Isolation of reactive intermediates
is @ method to establish reaction
mechanism

C) Both A) and B) are correct
D) Neither A) nor B) is correct

Glass is

A) Polymeric mixture

B) Gel

C) Super cooled liquid
D) Microcrystalline solid

Among the following substituted
silanes the one which will give rise to
cross linked silicone polymer on
hydrolysis is

A) R3SiCl

B) mmm_o_m

C) R,Si

D) RSiClj,

The polydispersity index of the polymer
is always

A) 1

B) <1

C) 2

D) 1or>1

64.

65.

HCN = @1y Yt 6 sififmn &
__ Y EEr|

A) witeama difies

B) @ 9

C) fa@iiuT 3=

D) 378 @ =S +ff 7

el FYA i IE=TH HL |

. A) YR S s 3 s s

66.

67.

68.

T T e foRar s R
B) stiufsrarens sexfufeue %1 gumemor @
TR o Tenfie 0 i o Rl 2
C) A) 3 B) 2T @&t 2 |
D) 74t A) 3fk 7€ B) gt 2

e ')

A) sgetshi fismor
B) &
C) afi d=rzm

D) "It 3m
frefafas sheefa ey
TSI W e e e e Rl
it 1 Fmi a2

A) R,SiCl

B) R4SiCl,

C) R,Si

D) RSiCl,

g H Ao S R
B d |

A) 1

B) <1

C) 2
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69. Which one of the following statement is
incorrect about enzyme catalysis ?

A) Enzymes are mostly proteinous in
nature

B) Enzymes are least reactive at
optimum temperature

C) Enzymes are denaturated by
ultraviolet rays and at high
temperature

D) Enzyme action is specific
70. Which one of the following is an
example for homogenous catalysis ?

A) Manufacture of sulphuric acid by
Contact process

B) Manufacture of ammonia by Haber's
process

C) Hydrolysis of sucrose in presence of
dilute hydrochloric acid

D} Hydrogenation of oil

71. identify the monomers from the
following.
A) Acetic acid and benzoic acid
B) Adipic acid and ethylene glycol
C) Ethylene and ethanol
D) Phthalic acid and acetic acid

72. Hydrolysis of cyanohydrin derivative
produces
A) Carboxylic acids
B) Alcohols
C) Aldehydes
D) Ketones

69. F=fefan wem & @ 97 @ Gzn 38w

FAXF AT ?

A) U it g i %
BE

B) 35¢ad ar9nT Y USTEH i ififEEaTes
RE |

C) UsgH syegraiaeie fomwil afi 3== arawm
wiFa s e

D) wemsw foman farfimse & @ ._

70. T 7 & * w1 gt 3Eio 1 SEmw E 7
A) Gue ufsRar g0 aewgfes Ul w1 fwfo
B) 8 & Wisan g o w1 famfa
C) srfiia eregiaciieh Ue i suffy
o IS T TGS
D) e ) ETRgIeTH

71. Fre=fafea # § A9 i vg=m =t
A) Hfafes Wre ik Fehew tfe
B) feis Yfire ik 3ursei wemseia
C) sumseliv it 39=ia
D) wifer Ut oih MR Aae

72. SR e S TRgRE

I09TEA W BT 2 |
A) wEitRRE e
B) YwhiEe

C) tfeeess

D) g
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73. Which of the following do not contain
carbon — oxygen double bonds ?

A) Ketone
B) Esters
C) Acids
D) Ethers
74. Chloroethane reacts with X to give
diethyl ether. The compound X is
A) NaOH
B) NaOEt
C) H,SO,
D) Na,S,0,

75

How do you distinguish chlorobenzene
from benzyl chloride ?

A) AgNO, test
B) Schiff reagent test

C) By anaiysis of elemental
composition

D) By adding sodium bicarbonate

76. The compound formed as a result of
oxidation of ethyl benzene by KMnO, is

A) Acetophenone
B) Benzophenone
C) Benzoic acid

D) Benzaldehyde

73. 7 & o 1 wE-aifRee gee ate
TR ?
A) Fdg
B) wd

C) Uiy
D) sod

74. FAREE 3R X Hi sl & smaE
My e 1 Mm X 2

A) NaOH
B) NaOEt
C) H,S0,
D) Na,S,0,

75. M9 S FERE A TR 3 3R
TEEMd & 7
A) AgNO, wiie
B) s stfimpde wiemr
C) wetssdta Haiem w1 v sk
D) wifeem srgermtte stga

76. KMnO,, % 2RT 3ure oiefi 3 atferefiem
& afoT ey AN TmT B |

A) THRATT
B) sisihT

C) asiige ar
D) swifreers

3EE
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77.

78.

79.

80.

81.

Alkyl halides react with dialkyl copper
reagents to give

A} Alkanes

B) Alkenes

C) Alkynes

D) Alkyl copper halides

Some meta-directing substituents in

aromatic substitution are given. Which
one is most deactivating ?

A) —SOzH

B) -CN

C) -COOH

D) -NO,

When 2-butyne is treated with
Pd-BaS0,; the product formed will be
A) l_-_.u_.zm:m

B) trans-2-butene

C) cis-2-butene

D) 2-hydroxy butane

Which of the following has highest
knocking effect in IC engine ?

A) Branched chain olefins

B) Olefins

C) Aromatic hydrocarbons

D) Straight chain olefins

Among the electrolytes Na,SO,,

Om.omm. .}—NﬁmOhvm and ZIBO_ , the
most effective coagulating agent for

Sb,S; sol is
A) NaySO,
C) Al(SOy)q

B) CaCl,
D) NH,CI

&ids

78.

79,

80.

B1.

Ufcehel BITSSH SN ona Shigt A PeRHen!
& a1y AfirfeRar & TR |
A) ek

B) ¥ehi

C) Tprs4

D) Ufere HTR tomsey

Wifew wferumm & Fo Fa-srifEen
yfcreagert s Rar T & | @ S A
Teg e frefiaTens § ?

A) —SO4H

B) ~CN

C) —-COOH

D) -NO, _

S 2-sgTA i sl Pd-BaSO, &
Y Bt B, @ IETE T TS

TR

A) 1

B) gw-2-gdH

C) foa-2-sgfm

D) 2-egiwt =

Fo= o @ forg =1 3mrdt 399 o ge9 wuEr
AR a9 B 2 7

A) e sEen AR

B) e
C) afew wragione
D) & FEen Aeifh=g

FeRIeTsed Na,SO,, CaCl,, Al(SO,),
R NH,CI # Sb,S, @l % foy w=@
TR R
A) Na,S0O, B) CaCl

C) Al (SO,), D) NH,CI

ﬁ Page No. 24 H
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82. Which of the following statements is

83.

incorrect regarding physiosorption ?

A) Under high pressure it results into
multimolecular layer on adsorbent
surface

B) More easily liquefiable gases are
adsorbed readily

C) Enthalpy of adsorption (A H,gsomtion)
is low and positive

D) It occurs because of van der Walls
forces

Gold numbers of protective colloids

A, B, C and D are 0.50, 0.01, 0.10 and
0.005 respectively. The correct order
of their protective powers is

A) A<C<B<D
B) B<D<A<C
C)D<A<C<B

D)C<B<D<A

84.

When a sulphur sol is evaporated,
sulphur is obtained. On mixing with
water, sulphur sol is not formed. The
sol is

A) Reversible
B) Hydrophobic
C) Hydrophilic
D) Lyophilic

82.

83.

84.

ﬁ Page No. 25 u

FrforRa wemt 3 @ 99 ar it arftrgieu
FaAeae ?

A) 3= q@d # i gag w
SrgaTvifeeh W # wionfia g @ |

B) afres srart & setg et =1 siftwivem
R | .

C) RIS %l TR (A Haggorption) T
R T § |

D) 4% qIvetEicd i Feil i asm A e 2 |

I HIaRed A, B, C 3D el
1 g& a9 0.50, 0.01, 0.10 3R
0.005 2 | 37t geam Wil 1 e &

e R

A) A<C<B<D
B) B<D<A<C
C) D<A<C<B

D) C<B<D<A

TS U How diet s o s #, 6
R I BT & | OF o @y B w
TR AT ST IEa 2
A) et _

B) TR

C) wrgifsfern

D) fwatifteferen
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85. The hydrocarbon which can react with
mea_.c? in liguid ammonia is
A) Styrene
B) bnmﬁ_m:m
C) Propylene

D) Pentane

86. Acid catalysed hydration of alkenes
except ethene leads to the formation of

A) Secondary or tertiary alcohol
B) .?_.Ema_“ and secondary alcohol
C) Secondary alcohol

D) Tertiary alcohol

87. Among the following which is least
acidic ?

A) Phenol

B) O-cresol

C) P-nitrophenol
D) P-chlorophenal

88. An ether is more volatile than an
alcohol having same molecular
formula because

A) Dipolar character of ether
B) Alcohols having resonance structure

C) Intermolecular hydrogen bonding in
ethers

D) Intermolecularhydrogen bonding in
alcohols

85. Wl TEgIHEA 3 FAFRT F Hifaw
GIRIEIRERIERE:C T A -SRI
A) Eife
B) Rfdfee
C) Szl
D) u=F

86. 3¢ # SIgH IJTHiH F 3 IS
Sedsd . SR e
A) fiefteres 1 e Setera
B) wrufe 1 faefiae Uemierar
C) fatium Yehieiet
D) el Ueshigret

87. frfaRen ¥ & gad w9 s wlq w12 7 |

A) HHATA

B) 3A-sha

C) f-ar52 $ATe
D) fa-seirbHTa

88. T & MU gaam Uewrde & $oR
A) 3 =1 fayeia @sy
B) Ueshigiet st STTE Tt
C) R ST AW TR sy
D) TehIRIE! & e AVITh FEEIer ey
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89.

90.

91.

92.

i —

An organic compound A(C,HgCl) on
reaction with Na/diethy! ether gives a
hydrocarbon which on monochlorination
gives only one chloro derivative then,
Ais

A) Isobutyl chloride

B) Secondary butyl chloride

C) Tertiary butyl chloride

D) n-butyl chloride

An oxygen containing organic
compound upon oxidation forms a
carboxylic acid as the only organic

product with Its molecular mass higher
by 14 units. The organic compound is

A) A ketone

B) An aldehyde

C) A primary alcohol

D) A secondary alcohol

Whichiof the following is correct
statement ?

A) Acetophenone is an ether
B) Diastase is an enzyme

C) Cycloheptane is aromatic
. .compound

D) All of the above

Which of the following is incorrect ?
A) FeClyis used to detect phenols

B) Fehling's solution is used to detect
glucose

C) Tollen’s reagent used to detect
unsaturation

D) NaHSO4 used to detect carbonyl
compound

89.

90.

91.

92

T R Afiee  A(C,HgCl) Fifsam
SEEATES 32X & Ay AfafEE |
TSR 2aT & S HAE Y T shae
T FER A SR A A R
A) 3TTEI Sgersa FANES

B) fidfias sgerse Fonrss

C) g =gerie s

D) UH-S4ZI5e FENES

HTere TRl T TR hlel ek ATh
3799 ToTfareh FUHE | 14 TS <9161 I
Weh W73 el (e SCUTE oh ©9 A eI eteh
tftre w=man & | 98 Felfe A R
A) T& HeH

B) = Ufcsers

C) T Wi Yehiee

D) & fiefires terieiet

FH AP CE T FUR !

A) TERHAT Th o R

B) SFRIS T UNRA §

C) HrgaRilee U il A &
D) S & @it

feRfEadasR o em e ?

A) FeCl, %1 394 T *1 91 & &
foru feran s B | :

B) SEfent ST i SN Teshiet T Ta
o & forg e s 8 1

C) 3ot v 1 ITaT SFHgH
AT ST o foTg ek e ® |

D) NaHSO, %1 378 eifet e i
qe T o T o ST R
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93. Which one of the following is not a
condensation polymer ?

A) Dacron
B) Neoprene
C) Melamine
D) Glyptal

94. Which of the following statements is

false ?

A) Repeat unit of natural rubber is
isoprene

B) Both starch and cellulose are made
up of glucose units

C) Artificial silk is derived from cellulose

D) Nylon-6, 6 is an elastomer

95. Bakelite is formed by the reaction of
A) Phenol and formaldehyde

B) Formaldehyde and aniline

C) Adipic acid and ethylene glycol

D) Phthalic acid and ethylene glycol

- Anisole can be prepared by the action
of methyl iodide on sodium phenate.
The reaction is called

A) Wurtz reaction

B) Williamson's reaction
C) Fittig's reaction

D) Etard's reaction

93. Frferfad & @ 7 w1 wegw sgeE e ?
A W

B) R

C) AemrE

D) ferte

e i d s wsm a7

Eu@m_ﬂﬂﬂﬁuﬂ%&wﬂm
HIFEIH 2 | .

B) R 3 el 21 e 3T
AIIEAE |

C) Fhm o =i Tgeid & = § |

D) 9w1-6, 6 T THRIR § |

SHelTie ot i g s R 7
A) dFTE ot wrifeeese

B) wmifegerss afit sififem

C) st fire oit surgefiy emgesiar
D) qdfer tftre afit sumsels wmewia

HifsTm fFie W Auge amaterse
TR & tFee S e s gea 2 |
wahifrms _ smemd
A) o sl

B) fafermer arfifzmn

C) fferg arfrfiran

94,

95.

96.
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97.

Consider the following reaction :
CoHsOH + H,SO, — Product. Among
the fellowing, which one cannot be
formed as a product under any

conditions ?

A) Ethylene

- B) Ethyl hydrogen suiphate

98.

99.

C) Acetylene
D) Diethyl ether
From amongst the following alcohols

the one that would react fastest with
conc. HCI and anhydrous ZnCl,, is

A) 2-methyl-propan-2-ol
B) 2-Butanol

C) 1-Butanol

D) 2-methyl propanol

Hydrolysis of aromatic amide gives
A) Acids
B) Amines

- C) Alcohols

100.

D) None of ?m above

Methyi phenyl ether can be obtained by
reacting

A) Phenolate ions and methy! iodide
B) Bromobenzene with methoxide ions
C) Methanol and phenol

D) Bromobenzene and methy! iodide

97.

98.

99.

100.

frafafea sifframsit =t e # ey -
C,HsOH + H,S0,, — eure | F=ifafaa
Tow i Rt s s d
T ST S el B 7

A) tefiefi=

B) $uT3H BISEIS Hedhe

C) ufafesta

D) SH3uTEE W

1 Yerreie & @ St v s @ win
HCI 3R fsiet ZnCl, & sifrfsea wear
K .
A) 2-TuTEe-HIi-2-37d

B) 2-=gTa

C) 1-sg&ard

D) 2-durser e

Wil e Hlewgifafm
;R

A) g

B) tmigw

C) Uehieret

D) 3 ¥ %13 oft 7

&Y arfifimar @ Fomset femee
$oRr W T3 1 e @ )
A) e g 3R R sTE1eRE
B) AuTeETsS A1 & | SiHieSH
C) AsfATe 3R FTa
D) Smiei o Fumd sTieEs
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101.

102.

PHYSICS wifes fagm=
An alternating voltage V = Vg sinat is 101. g sRdu ST, Wred g C,
connected to a capacitor of capacity )
: Fauif@a s V=V, sinot SeEd aiees
C, through an A.C. ammeter of zero
resistance. The reading of ammeter is AR AR 21
V, ALY
A T3 A Tz
Vo Vo
B) oo /e ®) wev2
V,wC VowG
C) ~ C) /5
D) V,uC D) VouC
What is the required condition, if the light 102. af2 e & e givd 9 SR offaa B
incident on one face of a prism, does wwﬂﬂﬂwﬂﬂﬁﬁmuﬁﬂﬂ & STETE
not emerge from the other face ? i | *
T F R 7
A) n<cosec ﬁwu A
A) n<cosec 3
- B) :Ammnﬁmw H._J
B) n<sec P
C) n>secA C) n>secA
D) n>cosec wm D) n>cosec o
2 _ 2
_ :
ﬁ_ummm No. 30 Q 3EE
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103.

104,

The critical angle for glass is 41°48’
and that for water is 48°36’ . Calculate
the critical angle for glass-water
interface.

A) 62043
B) mn_ﬁm,
C) 52042’
D) 44042

In Young's double slit experiment, one
of the slits is wider than the other, so
that the amplitude of light from one slit
is double of that from the other slit. If I
is the maximum intensity, what is the

resultant intensity when they interfere at
phase difference Q ?

A) .H.m,ﬁf mnommamu

B) Waﬁr mnomm_mu

C) _Im.ﬁlmoo% Q)

D) m? sin nmuu

103.

104.

ﬁ Page No. 31 q !

=il 1 hifcren HITT 41°48" AR THT
SHifies IV 48°36° B | Hig - TH &
$ZTHE 1 Shifdeh IV T HIfTT |

A) 62°43

B) 34°42

C) 52942

D) 44°42

N ¥ guw wiie yam #, Wi @

weite @ foeqa B | g we wefie & wem
1 FEW A e ¥ g 81 IR I
Hitehan digar @ oY, 9 98 a1 B &
R Q ¥ ffr Fw@ 2, aforh
e F A 7
w o {1-8eos3)

2

B) 9 ﬁ._+mnom Dw

C) Widlmnomm&

D) m? sin MJ
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*om_ Maximum kinetic energy. of a

105. anufim fafw & sEfi (f) & T9 T

photoelectron varies with the frequency B TR o iR ks el
(f) of the incident radiation as gfafda i 8, S
A) Eg }\ A) Ex 4
: >, 3
B) Ex A B) Exp
\ > \ >
f f
C) mx%\ C) mx}\
—> =>.
f f
D) Ef D) Ef
f f

mumm No. u&
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106.

107.

108.

109.

If the vertical component of earth's

magnetic field at a place is /3 times

the horizontal component, then the
value of dip at that place is

A) 60° B) 45°

C) 30° D):162

An electron and a proton enter a
magnetic field perpendicularly both

have same kinetic energy. Which of
the following is true ?

A) Trajectory of electron is less curved
B) Trajectory of proton is less curved
C) Both trajectories are equally curved
D) Both move on straight line path
The reason a moving coil galvanometer

cannot be used with an' alternating
currentis that

A) The coil bends easily
B) The coil heats up too much
C) Sparks can be produced

D) The net magnetic field produced is
zero

Select the output Y of the combination
of gates shown in figure for inputs A=1,
B=0;A=1,B=1andA=0,B=0

respectively.
)
)

=D

A) (0,1,1)
C) {(151,1)

Bs

1086.

107.

108.

108.

It foreht v w g it goefig &9
HH HTF 3G Afast TR ¥ /3 TR,
NI RIWFGT B
A) 60° B) 45°
C) 30° D) 15°

AE T Sl % T JoEg IR TR
W gadE &7 # deaq yaw w8 |
Frafefead s wadt & 7

A) FeiEA 6l NEY-TY FY YHIEER §
B) WieiT &Y HE9-IY HF YATEEH 8
C) T1 Ne9-vY THE YRR &

D) 2T Ot @1 99 | Ted 8

UF ol Fee Aeniiet 1 W T

TeITEd] YR S A1y el R 9w R,
F4iteh

A) TEA AT & Fohar B
B) $ea 7ga it qoar 3
C) fammrdl Fmfor g wereht 2

D) Y 9o &% % fmfor s @

oy o gwife o e & SaieH & s
TRA=1,B=0;A=1,B=13RA=0,
B = 0 % foIu anwiege Y &1 w5 it |

oo
,uTwrul

B) (1,0, 1)
C) (1,1,1) D) (1,0,0)

3EE
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L_‘_o

111.

112.

113.

The minimum number of geostationary
satellites required for uninterrupted
global coverage is

A) 3
C)7

B) 5
D)9

The dimensional formula for permittivity
of free space (g,) in the equation

F= _1 00 n__nm where, symbols have

4ngy, 12
their usual meaning is

Ay M'LP AT

B) ML T4 A?)

ON_ =<_|.. _Ilm }uw n_uLJ

D) M2 T2 A

A body moves along a straight line
with acceleration 3 ms™2 for 2 seconds
and then with acceleration 4 ms=2 for

3 seconds. What is his average
acceleration ?

A) 34ms2
C) 3.6 ms=2

B) 3.5ms2
D) 3.7 ms™2

Two bodies are projected at angles
g and (90° - 0) to the horizontal with

the same speed. The ratio of their times
of flight is

A} sin@:1
B) cos6:1
C) sin®:cos@
D) tosB:sind

110.

111,

T12.

113.

frEsTae Affas TE & v smaws
eyl surEl i pem wen )
A) 3 B) 5

Gy 7 D) 9

e _n|l|§ T @reft T
4ne, r?

qudeaT (g,) % s
2 | <&t welter 1w S B

A) M'2A2TH

B) ML T A%

C) ML A2 T

D) (M'L3 T2 A™)

9% 2 ¥ F g 3 ms 2 @ &
w3 it 3 9 & T 4 ms™2 @
F Oy TE @1 H Ierdl 7, 9 36 oigd
=T TR 7
A) 3.4ms™2
C) 3.6ms™2

B) 3.5ms™
D) 3.7 ms™2

%) gl i woe Tfa § &fes 1 3R 9
3t (90°.~ 9) whivit 7 weiftg foram s
R A & T o wwow
Igaa R

A) sin@:1

B) coso:1

C) sin®:cos®

D) cos@:sing
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114. The co-efficient of friction between two

115,

116.

FA7L

surfaces is 1 =0.8. The tension in the
string as shown in the figure is

A) ON
C) 4N

B) 6NN

D) 8N

A uo&.u. of density p and volume Vis
lifted through height h in a liquid of
density ¢ (<p). The increase in
potential energy of the body is

A) V(p-o)gh

B) Vpgh

C) Vogh

D) Zero

A copper wire of 3 mm? cross sectional
area'carries a current of 5 ampere. The

‘magnitude of the drift velocity for the

electrons in the wire, (Assume copper
to be monovalent, M, = 63.5 kg/k mol

- and.density of copper = 8920 kg/m3)

A) 0.24 m/s
C) 2.4m/s

B) 0.12m/s
D) 0.06 m/s

Two'long parallel wires placed 0.08 m
apart.carry currents 3'A and 5 A in the
same direction. What is the distance
from the conductor carrying larger
current to the point where the resultant
magnetic field is zero ?

A) 0.5m B) 0.04m

C) 0.05m D) 0.4m

114.

116.

116.

R Tt 3 ofter 3 oor b U =08 R |

e daugu s %)
1kg
30°
A) ON B) 6N
C) 4N D) 8N

¥ o (< p) FEA U FE hQ ued p
3 AR V & TR FE] H ST IS
ST 8 | a%g =t et it o gfg

wawais o)

A) V(p-ojgh
B) Vpgh

C) Vogh

D) 1=

3 mm? ST 3% & ST aR 5 S
YR 1 & T & | T H 3oy & foIg
IR T R R (3 AR
R AR 8, M, = 63.5 kg/k mol 3iik
I =1 ¥ = 8920 kg/m?3)

A) 0.24 m/s B) 0.12m/s

C) 24m/s D) 0.06 m/s

117.°0.08 Hiet & 3 3t =it T ar & &

R ¥ 3 A 3R 5 A umr I8 el 81 T8
YR it T67 FHAT FSFR ¥ T&T g
& Y[ 8, 36 fog 7 o) fhaft 2 7

A) 0.5m B) 0.04m

C) 0.05m D) 0.4m
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118.

119.

120.

121,

122,

The relative permeability is represented
by p, and the susceptibility by x for a
magnetic substance. Then for a
paramagnetic substance

B) u, >1,%x>0
D) p, <1x>0

A) p,>1,%<0
C) p<1x<0

A transformer of efficiency 90% has
turns ratio 1 : 10. If the voltage across
the primary is 220 V and current in the
primary is 0.5 A, then the current in
secondary is

A) 5.5 A
C) 4A

B) 5A

D) 45A

A 1 cm height needle is placed at a
distance of 0.1 m from a convex mirror
of focal length 0.05 m, then size of the
image is
A) 1ecm
C) 0.33¢cm

B) 0.66cm
D) 0.5cm

Two liquids A and B are at 32°C and
24°C. When mixed in equal masses
the temperature of mixture is found to
be 28°C. Their specific heats are in
the ratio

A) 3:2
C) 1:1

B) 2:3
D) 4:3
If pressure and temperature of an ideal

gas are doubled and volume is halved,
the number of molecules of gas

A) Become half

B) Become two times
C) Become four times
D) Remain constant

118.

119.

120.

121.

122.

e % oropsit A e

e geenTTeran K, G et e @ 3
g verel & forn wdeafierar X 31 @

i gare % Ry |
A) p >1,%x<0 B) .Ev._va
C) u,<1x<0 D) u,<1%x>0

._

90% FIET TFABIR 1 &8 T 1 : 1
® | afe smufies g diees 220 V R ol
st & Uw 0.5 A 2, i fiwfess o
T ¥ |

A) 55A
C) 4A
0.05 m BT i % I9el TV A 0.1m

* g W 1 cm S g H @ , @
s amr &

A) 1cm B) 0.66 cm
C) 0.33¢cm D) 0.5cm

A3 A 3R B 32°C s 24°C AR & |
S ST ot qET eua H fireTn S 2,
ﬂwﬁﬂﬂﬁﬂm%o%ﬂﬂfﬁ%
fafire mff &1 o 2l

A) 3:2 B) 2:3
C) 1:1 D) 4:3

B) 5A
D) 45A

AR T AT T 1 gaE I G9HE
ST &Y AT & 37 e a7 B S 2,

A) e & St @

B) <t T B et B
C) =R 707 &) oIl &
D) feR it &

3EE
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123. The tms speed of oxygen at room

124,

125.

126.

temperature is about 500 m/s. The rms
speed of hydrogen at the same
temperature is about

A) 125 m/s
C) 8000 m/s

B) 2000 m/s
D) 31 mis

.The distance between two points
. differing in phase by 60° on a wave

having a wave velocity 360 m/s and
frequency 500 Hz is

A) 0.72m
C) 0.12m

'B) 0.18m
D) 0.36 m

A particle moves according to the law
mt

- X=TC05—-. The distance covered by

2
it in the time interval between t = 0 and
t=3sis
A)r
C) 3r

B) 2r
D) 4r

If g is the polarising angle for two optical
media whose critical angles are C, and
C, then the correct relation is

A) sinf= M__”m.“.
5 0-SnC: ;
C) tane =S
D) sin6 = M___“M

123.

124.

FH F AAHH T ST H ms Tl
TP 500 /s & | IH A9HH W EREeH

fmsTRTEm_ R

A) 125 m/s B) 2000 m/s

C) 8000 m/s D) 31 m/s

360 m/s 70T A AR 500 Hz g

0T W %H H 60° T e < Figedt &

dadig_ R |
A)072m B) 0.18 m

C) 0.12m _9 0.36 m

125.

126.

Gnun No. HJ

xuqoommmﬁyﬁmﬂﬂﬁﬂammﬁ
1 t=0 3R t = 3s % i T e

SR R
A)r B) 2r
C) ar D) 4r
AfE B e ATl w1 Yl o 9
B, Toree wifees o C, sk C, R at wll.
Gau 21
. |m=.._0m
: lesnos sinC,
_sinC,
20 sinC,
C _ SinG,
e sinC,
.~ _ SinC,
D) m__._mlmm: C,

3EE
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127. Two thin lenses have a combined power

128.

of +9D. When they are separated by a
distance of 20 cm, their equivalent

27
power becomes +1W|U_ then their

individual powers are
A) 6D and 3D
B) 6D and 4D
C) 9D and 3D
D) 9D and 6D

If the mass shown in figure is slightly
displaced and then let go, then the
system shall oscillate with a time
period of

.
-
"

127, < yast &9 ) Tgea ahe +9D & | =9

128.

ﬁ Page No. mﬂ

3% 20 4.4, A 7 & arerm Ry wmar 2,
Tl 37 agea e +mmwc g W R,
IR T T 3

A) 6D 3 3D

B) 6D 3fit 4D

C) 9D 3fv 3D
D) 9D 3R 6D

ufe st 3 gwfe Tu sommm ) v @
ferenfi fram smar @ aii Rer 93 R
SR, AN gng sy
|1 SEEEE B |

T ——
=
=

m
A) 2n /M
) 2y

3m

B) 2r o
[om

op. 1<
A

3k

D) 2x
m
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129.

130.

131.

" A)

In Young's double slit experiment, using
a monochromatic light of wavelength ,,
the intensity of light at a point on the
screen where path differenceis 3, is K
units. Then the intensity of light at a point

where path difference is vm. 5

K
- ,.m ; :
B) 2K

C) 4K

LR
D) %

The temperature co-efficient of resistance
of a wire is 0.00125/°C. Its resistance is
1Q at 300 K. At what ﬁmz.._wm..mEE. its
resistance willbe 2Q ?

A) 1127 K
B) 854 K
C) 1217 K
D) 1154 K

In Balmer series for hydrogen atom, find

_the energy of photon corresponding to
" longest wavelength.

A) 18.9eV

B) 3.03 eV
C) 1.89 eV
D) 30.3eV

129.

130.

131,

o ) g e W H, A TR &
AT W 3 W 8 BhH % 0
fig T SRl vy AW A R FE Sy

et K it & | o orei o i A @
C i e i | S

K
EM

B) 2K
C) 4K

K
EM

AT 3 RS T aT9s ToTish 0.00125/°C
2 1 300 K 9t 3G wfody 1Q 2 | frg
AT T 35T WY 2 Q g 7

A) 1127 K

B) 854 K

C) 1217 K

D) 1154 K

ATeHL @l § g A & o,
Tard el aTeEd o wed H B i Het
e ShSTT |

A) 18.9eV

,,E 3.03 eV

C) 1.89.eV

D) 30.3eV

ﬁ m..mmm.. _...m. 39 H

3EE

Visit CollegeDekho


https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

i

132. The half life period of a radioactive
element X is same as the mean life time
of another radioactive element Y.
Initially they have the same number of
atoms. Then

A) XandY decay at same rate always

B) X will decay faster than Y

C) Y will decay faster than X

D) XandY have same decay rate
initially

133. Cobalt ~ 57 is radioactive, emitting
B -particles. The half life for this is 270
days. If 100 mg of this is kept in an
open container the mass of Cobalt — 57
after 540 days will be

A) 50 mg

50
0 ()

C) 25 mg
D) Zero

134. In the circuit of figure, treat diode as
ideal, current in the 4 Q resistor is

it
D, N

= Wan_

12V

A) 2A B) 3A
12 30
le. —

C) < D) 33 A

132, e et werssa X 1 o st
et e yessa Y& siva e
& SO R | ATt 3§ 396 U G0 g

133.

134.

F gramy & |

A) X 3 Y TR U & W W e
B) Y& ge § X o @ gear }
C) XS ge & Y o<ht & uzar @
D) yama # X 3R Y o1 & &

SiaTee — 57 WAl § st B -l
IeeSi- AT © | SR AT e 270

1 3k 39 100 mg =i et sa 3 @@l

o 8, @ 540 7 I” S - 57
FooLIC) B |
A} 50 mg

50
o ()
C) 25 mg
D) 3

34 fo & wfhe & T =t ey anfi,

4 O gfeQyes & arg ?l

AW

A) 2A B) 3A
12 30
Q:.wl) Uu._|m._p

C ﬁ Page No. aﬂ
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135. A travelling microscope is focussed on
an ink dot. When a glass slab (n = 1.5)
of thickness 9 cm is introduced on the
dot, the travelling microscope has to be
moved by

A) 3 cm upwards

B) 5 cm upwards

C) 3 cm downwards
- D) 5 cm downwards

136. Acharged particle moves with a velocity
Vin a circular path of radius R around'a
~long uniformly charged conductor then

'A) V<R
Ve
B) R

"
Q<ﬁ

D) Vis independent of R

137. The capacitance of a parallel plate
3 3 .| - ’ L. - 3
capacitor becomes 3 times its original
value if a dielectric slab of thickness
n- y
ﬁum is inserted between the plates
(where d is the distance of separation
between the plates). What is the dielectric
constant of the slab ?

A) K=2

B) K=

C)K=1

D) K=42

135. T I HISHIhIY i T TRl & forg
wahia R smaT ® | 919 9 % . Hiegare
g @ (n = 1.5) i forg W @1 5@
B, NI AGRERO R TIHiaRa
T T |
A) 3 3., FgTht 3R
B) 5.1l St 3l
C) 3.1, fi= i 3k
D) 53.1. fi= i 3t

136. afe wr wifta o1 B4 R & MR 9y
W EHA VB TR TH FAE MRE HIR
F IR} 3R Ferar B, q
A) V<R

d
B) Ve

. 1
o Y&

D) RY Vwaa ?

137. 3R ﬁu.m e & SEgAEE v

qt wiet % e Fafm R s @, @
TR <IE HYTRE i S1iar 319 5 469

wmuﬂﬂiw}ﬁ&@ﬁwﬂﬁ

ferim F® 7 (ST wiel & e g
Hdr)

A) K=2

B) xuum

C) K=1

D) K=42

)
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138. A letter ‘A’ is constructed of a uniform

wire with resistance 1.0 Qcm™'. The

sides of the letter are 20 cm and the
cross-piece in the middle is 10 cm long.
The apex angle is 60°. The resistance
between the ends of the legs is

A) 50.0 Q
B) 26.7 Q
C)272Q

D) 34 Q
139. A wire loop PQRSP formed by joining
two semicircular wires of radii R, and R,
carries a current I as shown in figure
below. The magnitude of magnetic
induction at centre C is

(11
I| —-—
C) Ko R, w;
D) ot
) Ho R,

138. Wil 1.0 Q em™ & WY TF §9F AR
Y &l ‘A’ i e o 2 | ol o erd
20 cm 3R 99 § Wy @€ 10 cm
Tl 8 | 3 I 60° B | U % I W
= w1 afediy 2l
A) 50.0 Q
B) 26.7 Q
C)272Q
D) 34 Q

139.

B R, o R, % < srdagemn ol @
e o & o argEm ar 9fwy PQRSP
1 Fmivr foram man 3, S urr 1o A
A1 8 | F7 C WYk 14 Revea =1 R

Rl

By (Mo || 1__1
4 )[Ry Ry
r
1 1
|
C) Ho B m;
€1
D) Mol mlw
&
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140. The magnetic flux through a coil varies

141,

142.

143.

@ﬁ

with time as Q = 5t + 6t + 9. The ratio
of emfatt=3s to t = 0s will be
A)1:9 B) 1:6
C)6:1 D) 9:1

A tunnel is dug along the diameter of
the earth. A mass m is dropped into it.
How much time does it take to cross the
earth ?

“A) 169.2 minutes

B) 84.6 minutes
C) 21.2 minutes

D) 42.3 minutes

A curved road of am_ma_mﬁ.. 1.8 kmis
banked so that no friction is required
at a speed of 30 m/s. What is the

‘banking angle ?

A) 6°
C) 26°

B) 16°
D) 0.6°

The moment of inertia of a sphere of
mass M and radius R about an axis

bl o T d 2\
passing through its centre is 5 MR2
The radius of gyration of the sphere

m.coE_.m parallel axis to the above and
tangent to the sphere is

7 H%)
’R 3
gy Big R

o) ({2

140.

141.

142,

143.

et % Weay | g wew
Q=5t%+6t+9 & Y G99 F gy
uRafda B8 1t = 3s ¥t = 0s 7% emf

T |

A)1:9 B) 1:6
C)6:1 D) 9:1

T GOl i yefi & =g & ward #f @

T 8 | U FNE m 3T v R
?1 9=t i 9 w3 F 3@ frar aag
e ?

A) 169.2 fie

B) 84.6 fime

C) 21.2 fise

D) 42.3 fime

1.8 .. =am #1 SR g s
TR, A 30 Hew wf e o 1 w
1 ) ST 7€ 8 | @Y $fk

w7

A) 6°
C) 26°

B) 16°
D) 0.6°

S M 3R e R % 39 =1 309 32
¥ IR BN 318 % Sree w el

2 MR 81 335 e o e 3
FAMIR 318 % AR 3 e ) gRogmor freen
2

3
=R =R
A B) 3

1=
TR T
|
NS
o)
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144. The length of a metal wire is l; when

145.

146.

147.

V(&

the tension initis T, and is 1, when

the tension is T, . The natural fength of
wire is

L+
Al = B) Jhi,
ha=hT LT +bT,
e) =T, R) T+T,

Ineach heartbeat, a heart pumps 80 mi of
blood at an average pressure of 100 mm
of Hg. Assuming 60 heart beats per
second, the power output of the heart is

(Pro =13.6x10° kgm®) (g =9.8 ms 2)

A) 1.0W B) 1.06 W
C) 1.12W D) 2.16 W

A stationary object is released from a
point P a distance 3R from the centre
of the moon which has radius R and
mass M. Which one of the following
expressions gives the speed of the
object on hitting the moon ?

A4GM Y2
2 ?i‘
ofB o2y

A stream of water flowing horizontally
with a speed of 15 ms~1 gushes outof a
tube of cross-sectional area 10-2m2and
hits a vertical wall nearly. The force

exerted on the wall by the impact of
water assuming it does not rebound is

A) 225x103 N B) 25x103N
C) 3.0x10°N D) 35x10°N

144,

145.

146.

147.

~ Page No. 44 _

HTg = AR A1 T 1, R @i g T
23R 4, ¥ o1 T T, &) AR SRR
SEI

L+ 1,

A) 5 . B) Jii,
Lilo bl hlp+bTy
Vool )

& T A a3 100 fir . Hg % 2hwa e
% 80 1./, T 97 v B 1 wiv A9 60
IR §5T USHal ®, A1 g4 F1 IANST a9

— ®l (04, =13.6X10% kgm )

(g=9.8ms 2
A) 1.0W
C) 1.12W

B) 1.06 W
D) 2.16 W

R B ot M zommrae 5 % 3 3
3R T 1975 P & w B axg + 8 R
ST & | 5% & T T awg A1 frey 3
H %1 TRy awid 2 7

2GM
A) ﬁlmmw B)
2GM Y2 (GM Y2
C) | — D) | —==
) ﬁ R H\ g\ R

It <t &9 15 ms= 1R & @ 1072 m2
I BT A% & A1 @ T W
& R B IR I AR W e 2
NIGE 7ef 8 8 A g aF &
AR mRE s 2

A) 2.25x103N B) 25x103N
C) 3.0x103N D) 35x103N
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148. Two identical charged spheres are
mcmumnam.n by strings of equal lengths.
The strings make an angle of 30° with
each other. When suspended in a liquid
of density 0.8 g cm™3 the angle remains
the same. If density of the material of the
sphere is 1.6 g cm™3, the dielectric
constant of the liquid is
A) 1 B) 4

C) 3 D) 2

149. An electric field E = (21 + 3j)N/C

~ exists in space. The potential
difference (Vp — V) between two
points P and Q whose position vectors
fo=i+2j and Tq=2i+j+kis
A) -1V B) 2V
C)-3v D) 4V

150. In the circuit below, the potential
difference between A and B is

: 180V
1
"
| | | |3RF
I | i
11F
| ___1
[l A |[B
1LF 3uF
A) 10V B) 20 V
C)3ov

D) 40 V

148. & T WiRE I¥ 1 G9F @9 & S Y

FEHMT ST & | SR ThH-gAL & 30° F
) ST B 1 0.8 g em3 e & 59
e W ot o guE war 21 3k 9w
<1 gl &1 o 1.6 g cm S §, A1 Sa
R ¥

A) 1 8) 4

C)s. © . “ D)2

149. £ =(2i + 3]) N/C forepq &= v §
tioe 31 R Rt afiw F =1+ 2]
AR Ty=2i+j+k 3 PaltQFa

Rmaiat (Vp - V) R
A) -1V B) 2V -
C) -3V D) 4V

150. fR Rumuaffe i, A s B & Ffiw =
fam R

1190V
Al
| | | | 3KF
I |
1uF
| | _
I A I8
1HF | BUF
A) 10V B) 20 V
C) 30V D) 40V
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Answer Key for 3EE (Set-C)

Q. No. | Answer Key Q. No. | Answer Key Q. No. Answer Key
1 A 51 C 101 C
2 C 52 D 102 D
3 B 53 D 103 A
4 D 54 Cc 104 B
5 A 55 A 105 B
6 B 56 B 106 A
7 D 57 B 107 B
8 A 58 B 108 D
9 A 59 C 109 D
10 Cc 60 D 110 A
11 B 61 C 111 B
12 A 62 D 112 C
13 B 63 A 113 C
14 [ 64 B 114 A
15 A 65 C 115 A
16 G 66 C 116 B
17 A 67 D 117 e
18 B 68 D 118 B
19 D 69 B 119 D
20 G 70 C 120 c
21 B 71 B 121 G
22 = 72 A 122 A
23 D 73 D 123 B
24 B 74 B 124 ]
25 A 75 A 125 c
26 D 76 [o 126 %)
27 A 77 A 127 A
28 C 78 D 128 B
29 B 79 C 129 D
30 C 80 D 130 A
31 B 81 C 131 C
32 A 82 C 132 =]
33 D 83 A 133 c
34 A 84 B 134 A
35 B 85 B 135 A
36 C 86 A 136 D
37 B 87 B 137 A
38 C 88 D 138 B
39 A 89 C 139 B
40 A 90 C 140 C
41 B 91 B 141 D
42 B 92 C 142 A
43 C 93 B 143 C
44 A 94 D 144 C
45 B 95 A 145 B
46 A 96 B 146 ]
47 D 97 C 147 A
48 B 98 A 148 D
49 C 99 A 149 A
50 D 100 A 150 A
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